| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

Q= [~
£ . =
RS P
> 5 o N
o X s Il
— © : x
3 : g
o M .
— N T o =
= e H —
[te} 4 .
2 .
3 .
o 5 EERRCEPTE o
5 .
L0 & H
! 2 . o
o E PR =1
= [ : |
| e H
LD o .
i e <
o 1 . 1
N & .
! 5 N
e |3 Lns
) 8 ) 1
5 o
z| syoen srealdnp oney
0 _ o
N ™ =
£ £
QL )
> o N
o X =]
— O X
% g
o
1M .nlv.U
0
o o
el
! o
o —
‘ﬂ. I
o
— o
1 INd
o )
: o
1 ! [Te} o
2 £ g
— m (=) ©
SN ) M
Q= 82
£ ] 3
RS 2
> o N
[Tpges N
...... — © x
3 8
.. =} M <
— © N S =
[t} g
L
o 8 o
.. 0 3
o 3 =
.- = 5 ' . |
| 8 : :
B E . o
| 2 H - N1
o E . . 1
N ] N H
1 . . e
[T TN L
Feac 8 =3 o B e
g I 5 g E 1., 50
syoeln M z| syoen dhn oney
n o
N = ™ =
£ 1 €
.............. QL o
N
oz o N
— O x
3 g
o
1M wH
o
o o
i
o
s |2 o
" g
— b o
| @ N
o 5 )
~ of :
PO . ; e
i 1 (<] [ A AR PITTE 1
N = K
) 3 - 3 3 ° R & 3
syoen - dney ° 2l syoen - ©




	Contents
	Page 1


